PhotonIsQuantum

Ode to light as energy per E = nhf

Quantum energy was discovered by Einstein

But he thought calling it a photon was just fine.

Planck saw that all energy had to be discrete.

Photon as quantum energy makes both complete.

Amazing physics that comes from ignorance about the obvious

Einstein was the very best at physics for a very long time, yet somehow missed the obvious at the start. When he defined the least increment of light as the photon, his circular math proved only that Planck’s constant, h, had to be the least increment of all energy per the Planck relation, E =nhf, where what we call light is just a narrow band of frequencies that our sense of sight calls light. Reduced to its elementary meaning, his Photon of energy is Ep = hf , where f = 1! Let f be equal to c2 and you have the measurable energy of the single ray of light--- that we see moving in open space as reflected off some bright object like the moon to our eyes here on planet Earth. When n = 1 in the Planck relation , it means one photon is one minimum quantum of energy, for all frequencies!  If as a matter of h-symmetry as Universal Harmony (UH), we let n = 1.h as a unit what we measure as pulse-moving mass, then each pulse of energy as h-crudely measured has to correspond to the pulse movement of 1.h electrons in parallel where the each electron has an open space consistent h grams of mass----so that E = (1/h)hf = f = v2 as linear energy of radiation of whatever frequency. We know of course that energy and frequency are numerically synonymous but never bothered to provide an answer as to why it is so! We just added the word “anthropic” to all practical measure and never bothered to explain that either---just hinted that our measure is problematically uncertain for any given location or time. Enstein was clearly opposed to this with both his little finger and gut --which helped him die willingly of a pernicious central tumor! We can and must do better! For our sake and Heaven, please accept that minimum measured mass is h grams and it is the ubiquitous electron that goes and comes from atoms without practical limit—and literally serves to closed-orbit bind all visible (atomic) matter. One needs to clearly focus on the possibility that one sensed location in time and space IS the electron. There is no visualized mental recourse in the matter. One “alive” math point when put into physical reality out there has to be one wavy electron made of 1/h photons. The h-symmetry of UH then insists that the photon = quantum be a one  turn wave element, and that the electron be 1/h photons long. Now let one photon-quantum be made of 1/h Higgs particles. The electron is 1/h2 Higgs particles and we need 1/h of them for each frequency pulse for the entire electromagnetic spectrum! No one steeped in math is gong to like it, but Einstein said it all when he said you have to be able to see physical reality in mechanical detail to really understand it! No one can really get started in physics until they can see the electron as a wave of 1/h2 Higgs particles.
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